
Appendix 1
Questionnaire for industrial 
enterprises observations 

	NUMBER OF THE ENTERPRISE 
	
	THE QUESTIONNAIRE’S INPUT NUMBER 
	

	THE COMPLETE NAME OF THE ENTERPRISE 
	 

	ENTERPRISE’S CODE (the OKPO-code) 
	 
	THE BRANCH CODE (the OKONH-code) 
	

	REGION
	1 Moscow

2 Moscow oblast

3 St. Petersburg
4 Leningrad oblast 

5 Nizhni Novgorod

6 Samara

7 Ekaterinburg
	8 Perm

9 Novosibirsk

10 Krasnoyarsk

11 Volgograd 

12 Chelyabinsk

13 Omsk

14__________________

	THE COMPLETE POSTAL ADDRESS OF THE ENTERPRISE 
	

	TELEPHONE NUMBER OF THE ENTERPRISE 
	
	FAX NUMBER OF THE ENTERPRISE 
	

	FULL NAME OF THE RESPONDENT  
	

	THE RESPONDENT’S OFFICE 
	1 Director general 

2 Deputy director general 

3 Director of economics 

4 Finance director 

5 Other (write in) ___________________________________________

	DATE OF THE INTERVIEW (IN NUMBERS)
	Day
	Month

	THE YEAR OF ENTERPRISE’S PRIVATISATION 
	

	LEGAL OWNERSHIP

FORM OF THE ENTERPRISE 


	1 Open-type joint-stock company 

2 Closed joint-stock company 

3 Limited society 

4 Production cooperative 

5 Other (write in) ___________________________________________

	NAME OF THE INTERVIEWER 
	
	NUMBER OF THE INTERVIEWER
	

	The present interview was made by me in person, strictly according to the instructions. Before I handed in this questionnaire I checked that it was fully and correctly filled in. I pledge that I will not disclose the information received by me, nor give it to anybody else, than GfK
	THE INTERVIEWER’S SIGNATURE 


RESTRUCTURING

	(15)
	Which of the listed reforms were performed at Your enterprise in the past three years and when (state the year)? ASK ABOUT EACH OF THE REFORMS SEPARATELY.

In case there were no reforms in the mentioned years, ask why.


	
	The year of the reform

/SEVERAL ANSWERS ARE POSSIBLE /
	Why the reform was not performed in the past three years?

/ONE ANSWER ONLY/

	
	1997
	1998
	1999
	The reform was done prior to 1997
	Would like to make the reform, but have not done it due to some reasons
	The reform was not needed, neither is needed now
	Undecided
	Refuse to give an answer
	With respect to us this question has no meaning

	Production start of fundamentally new types of products or services*
	1
	2
	3
	4
	5
	6
	7
	8
	9

	Taking unprofitable types of products out of production 
	1
	2
	3
	4
	5
	6
	7
	8
	9

	Social expenditures cuts
	1
	2
	3
	4
	5
	6
	7
	8
	9

	Reduction of the staff
	1
	2
	3
	4
	5
	6
	7
	8
	9

	Development of new sales markets
	1
	2
	3
	4
	5
	6
	7
	8
	9

	Increase in products’ marketing expenses 
	1
	2
	3
	4
	5
	6
	7
	8
	9

	Reorganisation of management
	1
	2
	3
	4
	5
	6
	7
	8
	9

	Application of new technologies to cut fuel and energy consumption 
	1
	2
	3
	4
	5
	6
	7
	8
	9

	Application of new technologies to cut raw materials and labour expenses 
	1
	2
	3
	4
	5
	6
	7
	8
	9

	Application of new technologies to increase products’ quality
	1
	2
	3
	4
	5
	6
	7
	8
	9

	Liquidation (closedown) of nonprofitable workshops
	1
	2
	3
	4
	5
	6
	7
	8
	9

	Sale (lease) of excessive equipment 
	1
	2
	3
	4
	5
	6
	7
	8
	9

	Sale (lease) of immovable property or land 
	1
	2
	3
	4
	5
	6
	7
	8
	9

	Changing suppliers
	1
	2
	3
	4
	5
	6
	7
	8
	9

	Restructuring of accounts payable
	1
	2
	3
	4
	5
	6
	7
	8
	9


* Fundamentally new products are meant here, not just changing models. 

	(16)
	Which types of taxes and duties are the most significant ones for Your enterprise and need to be reduced in the first place? A MAXIMUM OF TWO ANSWERS


	Payroll charges
	1

	Value added tax
	2

	Profit tax
	3

	Land and property tax
	4

	Other /WRITE IN /
	

	Undecided 
	5

	Refuse to give an answer
	6


	(17)
	Has Your enterprise ever encountered administrative or other non-market barriers that impeded the development of Your business?
	

	
	Yes 
	1

	
	No
	2

	
	Undecided
	3

	
	Refuse to give an answer
	4


IF “NO”, SKIP THE FOLLOWING QUESTION

	(18)
	Which of these constitute the most serious problems for Your enterprise. A MAXIMUM OF TWO ANSWERS


	Getting a permit or a license for new types of activities or construction is a problem 
	1

	Constraints on the part of regional administrations in other regions to develop sales markets for Your products
	2

	An excessive and biased control on the part of controlling organisations (sanitary-and-epidemiologic institutions, fire, tax, ecological authorities, etc.)
	3

	Crime-related pressure 
	4

	Other /WRITE IN /
	

	Undecided 
	5

	Refuse to give an answer
	6


SHOWINGS OF ENTERPRISE’S ACTIVITIES 

	(19)
	As You see it, how much of the enterprise’s equipment facilities (in %) were averagely used in the past three years? We mean, how large was the produce as compared to the highest possible, should equipment facilities be fully used?


	
	1997
	1998
	1999

	The degree of equipment facilities’ use 
	%
	%
	%

	Undecided 
	1
	1
	1

	Refuse to give an answer 
	2
	2
	2

	(20)
	At the present moment how large are the parts of the enterprise’s equipment facilities that can be referred to the following age categories? SHOW CARD 1


	Manufactured less, than 5 years ago 
	%

	Manufactured 6 to 10 years ago 
	%

	Manufactured 11 to 15 years ago 
	%

	Manufactured more, than 15 years ago 
	%

	PRODUCTION CAPACITIES, TOTAL 
	100%

	Undecided
	1

	Refuse to give an answer
	2


	(21)
	In view of technologies in use and production volumes, how can You assess the number of employees at Your enterprise compared to the optimal number

SHOW CARD 2


	Exceeds the optimal number by more, than 20%
	1

	Exceeds the optimal number by 11% -20%
	2

	Exceeds the optimal number by 5 -10%
	3

	Equals the optimal number 
	4

	Is less, than the optimal number by 5 -10%
	5

	Is less, than the optimal number by more, than 10%
	6

	Undecided 
	7

	Refuse to give an answer
	8


	(22)
	If we take different geographical markets that Your enterprise is active at, what were the sales volumes’ shares (percentage wise) at each of them in the past three years?


	
	
	1997
	1998
	1999

	
	Sales, total 
	100%
	
	100%
	
	100%
	

	a)
	Russian domestic market 
	%
	
	%
	
	%
	

	b)
	Including:


the oblast/kray 


market 
	
	%
	
	%
	
	%

	c)
	Exports (total) 
	%
	
	%
	
	%
	

	
	Including:
	

	d)
	
CIS countries 
	
	%
	
	%
	
	%

	e)
	
other countries 
	
	%
	
	%
	
	%

	
	Undecided 
	1
	
	1
	
	1
	

	
	Refuse to give an answer 
	2
	
	2
	
	2
	


Note: a + c =100%;  b <= a;  d + e = c

 BUSINESS COMPETITION 

	(23)
	If one takes the principal types of Your products (services), how many domestic competitors does Your enterprise have at the oblast/kray level? At the whole of the Russian market /GIVE ONE ANSWER IN EACH LINE/

	
	
	No competitors
	1 enterprise
	2-5 enterprises
	More, than 5 enterprises
	Undecided
	Refuse to give an answer

	
	At the oblast/kray market 
	1
	2
	3
	4
	5
	6

	
	At the market of Russia (including that of the oblast) 
	1
	2
	3
	4
	5
	6


Note: as competitors any other manufactures of the same product are meant.

IF THE ANSWER IS “NO COMPETITORS”,
 SKIP THE NEXT QUESTION

	(24)
	Do any of the enterprises-competitors that you spoke of belong to foreign owners, are they joint ventures with foreign capital?

	
	Yes
	1

	
	No
	2

	
	Undecided 
	3

	
	Refuse to give an answer
	4


	(25)
	Do you feel any serious competition from imported goods?

	
	Yes
	1

	
	No
	2

	
	This kind of products/services cannot be imported in principal
	3

	
	Undecided
	4

	
	Refuse to give an answer
	5


	(26)
	Imagine that You have decided to advance the price for Your main product by 10% compared to the current price (after having taken in consideration the inflation and against the background of unchanged current competitors’ prices). How will Your sales change as a result of this in natural numbers?

	
	Will fall by more, than 10%
	1

	
	Will fall by approximately 10%
	2

	
	Will fall by less, than 10%
	3

	
	Will remain unchanged
	4

	
	Undecided
	5

	
	Refuse to give an answer 
	6


FINANCE 

	(27)
	Imagine a situation, when Your enterprise needs a short-term banking credit (with repayment in less, than 3 months) on a commercial basis.

What will be the annual crediting rate You will have to pay?
	%

	
	Undecided
	1

	
	Refuse to give an answer
	2


	(28)
	Imagine a situation, when Your enterprise needs a banking credit.

What would be the maximum term that a bank would give Your enterprise a credit for?

	
	< 1 month
	1

	
	1-3 months
	2

	
	4-6 months
	3

	
	7-12 months
	4

	
	1-2 years 
	5

	
	3-5 years
	6

	
	> 5 years
	7

	
	Getting a credit on commercial conditions is not possible
	8

	
	Undecided
	9

	
	Refuse to give an answer
	10


	(29)
	Imagine a situation, when Your enterprise needs a banking credit on commercial conditions.

How easy it would be for Your enterprise to obtain a short-term banking credit?

SHOW CARD 3, /ONE ANSWER IN EACH COLUMN/


	
	A short-term banking credit on commercial conditions
	A long-term banking credit on commercial conditions

	Very easy
	1
	1

	Quite easy
	2
	2

	Rather difficult 
	3
	3

	Very difficult 
	4
	4

	Impossible 
	5
	5

	Undecided
	6
	6

	Refuse to give an answer
	7
	7


	(30)
	Have Your enterprise received any financial support from the federal and/or regional/local budget in the past three years in any of the following forms?

ASK ABOUT EACH OF THE FORMS SEPARATELY 

/OCCURENCE OF 1 AND 2 SIMULTANEOUSLY IS POSSIBLE /


	
	
	Received form the federal budget
	Received form the regional/local budget
	Did not receive any support
	Undecided
	Refuse to give an answer

	
	A credit
	1
	2
	3
	4
	5

	
	Tax allowances 
	1
	2
	3
	4
	5

	
	Tax immunities 
	1
	2
	3
	4
	5

	
	Restructuring of tax debts 
	1
	2
	3
	4
	5

	
	Subsidies
	1
	2
	3
	4
	5

	
	Other 
	1
	2
	3
	4
	5


	(31)
	Imagine a situation, when Your enterprise needs some kind of financial support (of the types listed in the previous question).

How easy it would be for Your enterprise to get financial support from the federal budget? From the regional/local budget? SHOW CARD 3 /ONE ANSWER IN EACH COLUMN /


	
	From the federal budget 
	From the regional/local budget

	Very easy
	1
	1

	Quite easy
	2
	2

	Rather difficult
	3
	3

	Very difficult 
	4
	4

	Impossible 
	5
	5

	Undecided
	6
	6

	Refuse to give an answer
	7
	7


 QUESTIONS 32 AND 32 ARE PUT ONLY TO OPEN-TYPE JOINT-STOCK COMPANIES AND CLOSED JOINT-STOCK COMPANIES (CHECK BY THE ANSWER ON THE COVER)

	(32)
	Imagine a situation, when Your enterprise needs additional financing. How easy could You get the financing by issuing additional shares and selling them to Russian investors?  SHOW CARD 3


	
	Very easy 
	1

	
	Quite easy
	2

	
	Rather difficult
	3

	
	Very difficult 
	4

	
	Impossible 
	5

	
	Undecided
	6

	
	Refuse to give an answer
	7


	(33)
	Imagine a situation, when Your enterprise needs additional financing. How easy could You get the financing by issuing additional shares and selling them to foreign investors?  SHOW CARD 3


	
	Very easy
	1

	
	Quite easy
	2

	
	Rather difficult
	3

	
	Very difficult
	4

	
	Impossible
	5

	
	Undecided
	6

	
	Refuse to give an answer
	7


	(34)
	Does Your enterprise have a minimal allowable profitability level or a maximum period for recoupment of capital investments when You make assessments of investments to the fixed capital?

	
	Yes
	1

	
	No
	2

	
	Undecided
	3

	
	Refuse to give an answer
	4


CONTINUE, IF “YES”. IN OTHER CASES GO OVER TO QUESTION 35.

	If “Yes”, what is

	
	The minimal allowable profitability level
	%

	AND/OR
	The maximum period for the recoupment
	months

	
	Undecided
	1

	
	Refuse to give an answer
	2

	(35)
	Did Your enterprise make any big investments to the fixed capital after August of 1998? 

	
	Yes
	1

	
	No
	2

	
	Undecided
	3

	
	Refuse to give an answer
	4


	(36)
	What were the sources of investments to the fixed capital in 1997, 1998 and 1999? Please, give an assessment in % (total investments to the fixed capital – 100%)
SHOW CARD 4


	
	
	1997
	1998
	1999

	
	TOTAL
	100%
	100%
	100%

	
	The enterprise’s internal funds 
	%
	%
	%

	
	Additional issue of shares and/or bonds sold at the open market
	%
	%
	%

	
	Banking credits 
	%
	%
	%

	
	Means from the federal budget and off-budget funds 
	%
	%
	%

	
	Means from the oblast/kray budget 
	%
	%
	%

	
	Russian private investors 
	%
	%
	%

	
	Foreign private investors 
	%
	%
	%

	
	Other sources 
	%
	%
	%

	
	No investments to the fixed capital were made 
	3
	3
	3

	
	Undecided
	1
	1
	1

	
	Refuse to give an answer
	2
	2
	2


Note: in case the respondent cannot give an exact answer, please, ask him to give his approximate estimate.

	(37)
	Imagine the following situation for Your enterprise. The incoming cash flow for a given quarter is 10% lower, than planned. The temporal cash gap in three months equals to 10% of sales. (Please, point out that the money is coming, but will be overdue). But the need for circulating capital and the production level remain the same. In what way will You cover the deficit of financial means? Please, name 3 or 4 main sources. Please, estimate the share of each of them in %.

SHOW CARD 5


	
	
	
	100%

	
	Sales of short-term financial investments 
	1
	%

	
	Banking credit
	2
	%

	
	Suppliers’ credit 
	3
	%

	
	Delaying payments to suppliers/for utilities 
	4
	%

	
	Issue of promissory notes
	5
	%

	
	Barter settlements
	6
	%

	
	Delaying payments to the budget (taxes) and off-budget funds 
	7
	%

	
	Arrears of wages and salaries 
	8
	%

	
	Subsidies from the government 
	9
	%

	
	Other 
	10
	%

	
	This can be done only by a reducing the production output of the enterprise 
	11
	

	
	Undecided
	12
	1

	
	Refuse to give an answer
	13
	2


Note: in case the respondent says that it depends on the situation, ask him to imagine that the situation in question emerged today.

	(38)
	What was the share (%) of each of the below listed forms of settlement with suppliers in 1999?

SHOW CARD 6

	
	Cash and clearing 
	%

	
	Promissory notes
	%

	
	Reciprocal settlements 
	%

	
	Barter 
	%

	
	Other  
	%

	
	TOTAL 
	100%

	
	Undecided
	1

	
	Refuse to give an answer
	2


	(39)
	What was the share (%) of each of the below listed forms of settlement with buyers in 1999? SHOW CARD 6

	
	Cash and clearing 
	%

	
	Promissory notes
	%

	
	Reciprocal settlements 
	%

	
	Barter 
	%

	
	Other  
	%

	
	TOTAL 
	100%

	
	Undecided
	1

	
	Refuse to give an answer
	2


PROPERTY 

QUESTIONS 40 TO 43 ARE ONLY PUT TO OPEN-TYPE JOINT-STOCK COMPANIES AND CLOSED JOINT-STOCK COMPANIES (CHECK WITH THE ANSWER ON THE COVER)

	(40)
	What was an approximate distribution of shares of Your enterprise among different groups of shareholders (in %)?

SHOW CARD 7


	
	As of the moment of privatisation 
	As of January 1, 2000 

	TOTAL
	100%
	100%

	Workers/employees of the enterprise 
	%
	%

	Enterprise’s managers 
	%
	%

	Former employees of the enterprise 
	%
	%

	Federal public authorities 
	%
	%

	Regional and local public authorities 
	%
	%

	Russian enterprises 
	%
	%

	Russian banks and commercial credit companies (including finance and industrial groups) 
	%
	%

	Foreign enterprises and banks 
	%
	%

	Other 
	%
	%

	Undecided
	1
	1

	Refuse to give an answer
	2
	2


Note: in case the respondent cannot give an answer on workers and managers separately, ask him about all those employed by the enterprise (workers + managers)

	(41)
	Possessed any single shareholder more than 25% of common shares as of the moment of privatisation? As of January 1, 2000? /ONE ANSWER IN EACH LINE /


	
	
	Yes
	No
	Undecided
	Refuse to give an answer

	
	As of the moment of privatisation 
	1
	2
	3
	4

	
	As of January 1, 2000
	1
	2
	3
	4


	(42)
	Possessed any single shareholder more than 50% of common shares as of the moment of privatisation? As of January 1, 2000? /ONE ANSWER IN EACH LINE /


	
	
	Yes
	No
	Undecided
	Refuse to give an answer

	
	As of the moment of privatisation
	1
	2
	3
	4

	
	As of January 1, 2000
	1
	2
	3
	4


IN CASE THE ANSWER IN ANY OF THE LINES OF QUESTION 42 IS “YES”, SKIP THE CORRESPONDING LINE IN ANSWERING THE NEXT QUESTION

	(43)
	Possessed any two or three of shareholders more than 50% of common shares together as of the moment of privatisation? As of January 1, 2000? /ONE ANSWER IN EACH LINE /


	
	
	Yes
	No
	Undecided
	Refuse to give an answer

	
	As of the moment of privatisation 
	1
	2
	3
	4

	
	As of January 1, 2000
	1
	2
	3
	4


OPERATION OF THE BUSINESS 

	(44)
	Is Your company a part of any financial and industrial group or a member of any association? /SEVERAL ANSWERS ARE POSSIBLE/


	No
	1

	A member of a regional association of manufactures 
	2

	A member of a national association of manufactures 
	3

	A part of a financial and industrial group 
	4

	Other 
	5

	Undecided
	6

	Refuse to give an answer
	7


	(45)
	When was the chief executive of Your enterprise appointed/elected to his office?
	In the year of

	
	Undecided
	1

	
	Refuse to give an answer
	2


	(46)
	When did the chief executive start working for the enterprise in any capacity?
	In the year of

	
	Undecided
	1

	
	Refuse to give an answer
	2


	(47)
	Was the chief executive appointed/elected instead of a dismissed executive, or an executive that failed in his office?
	

	
	Yes
	1

	
	No
	2

	
	Undecided
	3

	
	Refuse to give an answer
	4

	(48)
	Representatives of which of the below listed groups are at the Board of Directors of Your enterprise? What is their number? SHOW CARD 8
	
	

	
	
	
	Number of member:

	
	Total
	
	

	
	Including:

	
	Representatives of employees 
	1
	

	
	Representatives of the company’s managers 
	2
	

	
	Representatives of federal public authorities 
	3
	

	
	Representatives of regional and/or local 

public authorities 
	4
	

	
	Foreign representatives 
	5
	

	
	Representatives of Russian banks 
	6
	

	
	Representatives of Russian investment companies and funds 
	7
	

	
	Representatives of other Russian industrial enterprises 
	8
	

	
	Big Russian investors – private persons 
	9
	

	
	Other 
	10
	

	
	Undecided
	11
	1

	
	Refuse to give an answer
	12
	2


	(49)
	Does Your enterprise have a foreign investor? 

	
	Yes
	1

	
	No
	2

	
	Undecided
	3

	
	Refuse to give an answer
	4


	(50)
	Has any of the high executives at the enterprise (3-4 of them holding high offices) the following education?


	
	
	Yes
	No
	Undecided

	
	Higher education in economics received in Russian 
	1
	2
	3

	
	Higher education in economics received abroad 
	1
	2
	3

	
	Courses for managers attended in Russia in the past 5 years 
	1
	2
	3

	
	Courses for managers attended abroad in the past 5 years 
	1
	2
	3

	
	MBA degree received in Russian 
	1
	2
	3

	
	MBA degree received abroad
	1
	2
	3


Note: MBA is Master of Business Administration

	(51)
	Has Your enterprise ever hired an external consulting company for employees training and project development? /SEVERAL ANSWERS ARE POSSIBLE/


	
	
	Yes, prior to 1997
	Yes, in 1997-2000
	Never
	Undecided
	Refuse to give an answer

	
	A foreign governmental or a nongovernmental organization 
	1
	2
	3
	4
	5

	
	A private foreign consulting company 
	1
	2
	3
	4
	5

	
	Private domestic consultants 
	1
	2
	3
	4
	5


Note: auditing is not included

ENCLOSURE TO THE QUESTIONNAIRE

	COMPLETE NAME OF THE ENTERPRISE 


	THE NUMBER OF THE ENTERPRISE 

 (taken from the executive’s questionnaire)

	CODE OF THE ENTERPRISE (THE OKPO-code) 


	 
	THE BRANCH CODE (THE OKONH-code) 
	

	PLEASE, WRITE, WHO ONE CAN TURN TO IN CASE THERE’S NEED TO SPECIFY SOME FIGURES

(FULL NAME AND TELEPHONE NUMBER) 




Please, don’t leave any table columns blank.

If any index equals to zero, please, put a “0” or 
a “-“ in the corresponding cell.

INDICES OF ENTERPRISE’S ACTIVITIES 

	(52)
	What was the average number of the permanent staff (employees on the payroll) at Your enterprise in each of the past three years? 

Note: can be calculated on the basis of statistics form nr. P-04, line 02


	
	1997
	1998
	1999

	Average number of the permanent staff 
	
	
	


	(53)
	What was the average number of part-time workers (ones that combine jobs and term-contract workers) at Your enterprise in each of the past three years?

Note: can be calculated on the basis of statistics form nr. P-04, lines 03+04


	
	1997
	1998
	1999

	Part-time workers 
	
	
	


	(54)
	What were the average gross monthly wages and salaries of permanent employees at Your enterprise (employees on the payroll) in roubles (including additional payments and bonuses that are included into the wage fund, but prior to payments to social funds) in each of the past three years?

Note: can be calculated on the basis of statistics form nr. P-04, line 02


	Average monthly wages and salaries of employees 
	1997
	1998
	1999

	
	Roubles 
	Roubles
	Roubles


	(55)
	What were the sales proceeds and cost prices of sold products and services in 1997, 1998 and 1999? What were profits and losses of Your enterprise (in thousands of roubles)?

Note: the data can be taken from form nr. 2 “Report on profits and losses” 


	
	Line code
	1997
	1998
	1999

	Products/services sales proceeds (excluding the VAT and excise-duties 
	010
	thousand roubles
	thousand roubles
	thousand roubles

	Cost prices of sold products/services 
	020
	thousand roubles
	thousand roubles
	thousand roubles

	Sales profits:
	050
	

	In case of profit 
	
	thousand roubles
	thousand roubles
	thousand roubles

	In case of losses 
	
	- thousand

roubles
	- thousand

roubles
	- thousand

roubles

	Interest payable
	070
	thousand roubles
	thousand roubles
	thousand roubles

	Profits in the accounting period:
	140
	

	In case of profit 
	
	thousand roubles
	thousand roubles
	thousand roubles

	In case of losses 
	
	- thousand roubles
	- thousand roubles
	- thousand roubles

	Taxation of profits 
	150
	thousand roubles
	thousand roubles
	thousand roubles

	Undecided
	
	1
	1
	1

	Refuse to give an answer
	
	2
	2
	2

	(56)
	What was the structure of costs at Your enterprise in 1997, 1998 and 1999 (in thousand roubles)

Note: the data can be taken, for example, from the Enclosure to the Balance schedule, form nr. 5, Part 6.


	
	Line codes
	1997
	1998
	1999

	Material costs 
	610
	thousand roubles
	thousand roubles
	thousand roubles

	Wage costs 
	620
	thousand roubles
	thousand roubles
	thousand roubles

	Assessments to social needs 
	630
	thousand roubles
	thousand roubles
	thousand roubles

	Depreciation of fixed assets 
	640
	thousand roubles
	thousand roubles
	thousand roubles

	Other costs 
	650
	thousand roubles
	thousand roubles
	thousand roubles

	Costs TOTAL 
	660
	thousand roubles
	thousand roubles
	thousand roubles

	Of these accredited to non-productive accounts 
	661
	thousand roubles
	thousand roubles
	thousand roubles

	Undecided
	
	1
	1
	1

	Refuse to give an answer
	
	2
	2
	2


	(57)
	How much funds did Your enterprise spend on investments to the fixed capital each of the past three years? Investments into buildings and structures and investments into machinery and equipment are meant.

Note: the data can be taken, for example, from statistics form nr. P-2, Part 2, lines 27 and 28.


	
	1997
	1998
	1999

	Investments into buildings (except for residential constructions) and structures 
	thousand roubles
	thousand roubles
	thousand roubles

	Investments into machinery, equipment, tools 
	thousand roubles
	thousand roubles
	thousand roubles

	Undecided
	1
	1
	1

	Refuse to give an answer
	2
	2
	2

	(58)
	What was the balance status of Your enterprise as of the end of the year (in thousand roubles)?


	
	Line code
	1997
	1998
	1999

	BALANCE
	399
	thousand roubles
	thousand roubles
	thousand roubles

	
	

	I. Capital assets 
	190
	thousand roubles
	thousand roubles
	thousand roubles

	Including:
	

	Intangible assets 
	110
	thousand roubles
	thousand roubles
	thousand roubles

	Fixed assets 
	120
	thousand roubles
	thousand roubles
	thousand roubles

	II. Circulating assets 
	290
	thousand roubles
	thousand roubles
	thousand roubles

	Including:
	
	

	Stock
	210
	thousand roubles
	thousand roubles
	thousand roubles

	Accounts receivable from buyers and customers with expected settlement within 12 months 
	241
	thousand roubles
	thousand roubles
	thousand roubles

	Money means 
	260
	thousand roubles
	thousand roubles
	thousand roubles

	III. Losses 
	390
	thousand roubles
	thousand roubles
	thousand roubles

	IV. Capital and working balances 
	490
	thousand roubles
	thousand roubles
	thousand roubles

	V. Long-term liabilities 
	590
	thousand roubles
	thousand roubles
	thousand roubles

	VI. Short-term liabilities 
	690
	thousand roubles
	thousand roubles
	thousand roubles

	Including:
	

	Arrears of wages
	624
	thousand roubles
	thousand roubles
	thousand roubles

	Undecided
	
	1
	1
	1

	Refuse to give an answer
	
	2
	2
	2


Note: 
190+290+390=399, 490+590+690=399

	(59)
	What was the total volume of accounts receivable from buyers and customers by the end of the year?

What was the volume of overdue accounts receivable from buyers and customers?

Note: the data can be taken, for example, from statistics form nr. P-3, Part 1, line 05


	
	1997
	1998
	1999

	Accounts receivable from buyers and customers 
	thousand roubles
	thousand roubles
	thousand roubles

	Of these overdue 
	thousand roubles
	thousand roubles
	thousand roubles

	Undecided
	1
	1
	1

	Refuse to give an answer
	2
	2
	2


	(60)
	What were the amounts of the following accounts payable by the end of the year?

	(61)
	How much of these were overdue?

Note: the data can be taken, for example, from statistics form nr. P-3, Part 1, lines 10, 13, 14, 16.


	
	Line number
	Accounts payable, TOTAL
	Of these overdue

	
	
	As of December 31, 1997 
	As of December 31, 1998 
	As of December 31, 1999
	As of December 31, 1997
	As of December 31, 1998
	As of December 31, 1999

	Debts to budgets (federal and local) 
	10
	thousand roubles
	thousand roubles
	thousand roubles
	thousand roubles
	thousand roubles
	thousand roubles

	Debts to off-budget funds 
	13
	thousand roubles
	thousand roubles
	thousand roubles
	thousand roubles
	thousand roubles
	thousand roubles

	Debts to suppliers 
	14
	thousand roubles
	thousand roubles
	thousand roubles
	thousand roubles
	thousand roubles
	thousand roubles

	Credit and loan debts 
	16
	thousand roubles
	thousand roubles
	thousand roubles
	thousand roubles
	thousand roubles
	thousand roubles

	Undecided
	
	1
	1
	1
	1
	1
	1

	Refuse to give an answer
	
	2
	2
	2
	2
	2
	2
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